C:# Continuing Area Patterns Name:

Usethegrid patternsto answer each question. Each SYGREPLACE = 1 square unit. Answers
1) 1 2 3 4
1.
O 2.
- 3.
A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 8? 4,
2) 1 2 3 4
5.

] & i i

A. If the pattern above continues what will be the area of grid 7?
B. If the pattern above continues what will be the area of grid 8?

3) 1 2 3 4

H Eas HHH HHHH

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 7?

4) 1 2 3 4

i

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 8?

5) 1 2 3 2

as =iis FHH

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 7?
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Ch Continuing Area Patterns Name:

Answer Key

Usethegrid patternsto answer each question. Each SYGREPLACE = 1 square unit. Answers

1) 1 2 3 4
1. 17 29
m H , 16 18

O
- 3 18 26
A. If the pattern above continues what will be the area of grid 5?

B. If the pattern above continues what will be the area of grid 8? s, 36 48

2) 1 2 3 4
5 18 26

] & i i

A. If the pattern above continues what will be the area of grid 7?
B. If the pattern above continues what will be the area of grid 8?

3) 1 2 3 4

H Eas HHH HHHH

A. If the pattern above continues what will be the area of grid 5?
. If the pattern above continues what will be the area of grid 7?

o8]

4) 1 2 3 4

i

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 8?

5) 1 2 3 2

- =iis HHH

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 7?
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C:# Continuing Area Patterns Name:

Usethegrid patternsto answer each question. Each SYGREPLACE = 1 square unit. Answers
1) 1 2 3 4
1.
. : HH 2
3.
A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 8? 4,
2) 1 2 3 7]
5.
O

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 8?

3) 1 2 3 4

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 8?

4) 1 2 3 4

HH

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 8?

5) 1 2 3 2

o EEmE

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 8?

2 1-5 [80[60]40]|20] O |

[ M ath ] www.CommonCoreSheets.com




Ch Continuing Area Patterns Name:

Answer Key

Usethegrid patternsto answer each question. Each SYGREPLACE = 1 square unit. Answers
1) 1 2 3 4
1. 13 17
H u mEm 2. 17 29
3 24 30
A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 8? s, 36 48
2) 1 2 3 4
5. 25 40
O

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 8?

3) 1 2 3 4

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 8?

4) 1 2 3 4

HH

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 8?

5) 1 2 3 2

o EEmE

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 8?
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C:# Continuing Area Patterns Name:

Usethegrid patternsto answer each question. Each SYGREPLACE = 1 square unit. Answers
1) 1 2 3 4
1.
Ej HHhH 2
|
3.
A. If the pattern above continues what will be the area of grid 7?
B. If the pattern above continues what will be the area of grid 8? 4,
2) 1 2 3 4
5.

mmm HH

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 7?

3) 1 2 3 4

A. If the pattern above continues what will be the area of grid 7?
B. If the pattern above continues what will be the area of grid 8?

4) 1 2 3 4

. =ia HH

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 8?

5) 1 2 3 2

: + |

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 7?
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Ch Continuing Area Patterns Name:

Answer Key

Usethegrid patternsto answer each question. Each SYGREPLACE = 1 square unit.

1) 1 2 3 4
E: Hh
|

A. If the pattern above continues what will be the area of grid 7?
B. If the pattern above continues what will be the area of grid 8?

2) 1 2 3 4

mmm HH

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 7?

Answers
1. 35 40
o, 15 21
3 8 6
s 16 22
5, 18 26

3) 1 2 3 4

A. If the pattern above continues what will be the area of grid 7?
. If the pattern above continues what will be the area of grid 8?

o8]

4) 1 2 3 4

. =ia HH

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 8?

5) 1 2 3 2

: + |

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 7?
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C:# Continuing Area Patterns Name:

Usethegrid patternsto answer each question. Each SYGREPLACE = 1 square unit. Answers
1) 1 2 3 4
1.
H Eﬂ -] ] ] 2.
| |
3.
A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 7? 4,
2) 1 2 3 4
5.

mmm HH

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 6?

3) 1 2 3 4

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 8?

4) 1 2 3 4

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 8?

5) 1 2 3 2

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 6?
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Ch Continuing Area Patterns Name: Answer Key

Usethegrid patternsto answer each question. Each SYGREPLACE = 1 square unit. Answers

1) 1 2 3 4
1. 22 26

| |
3 21 29
A. If the pattern above continues what will be the area of grid 6?

B. If the pattern above continues what will be the area of grid 7? s 13 17

2) 1 2 3 4
5. 28 32

mmm HH

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 6?

3) 1 2 3 4

A. If the pattern above continues what will be the area of grid 6?

B. If the pattern above continues what will be the area of grid 8?
4) 1 2 3 4
1

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 8?

5) 1 2 3 2

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 6?
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C:# Continuing Area Patterns

Name:

Usethegrid patternsto answer each question. Each SYGREPLACE = 1 square unit.

iy 1 2 3

H HH HHH

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 7?

4

-

2) 1 2 3 4
O
A. If the pattern above continues what will be the area of grid 7?
B. If the pattern above continues what will be the area of grid 8?
3) 1 2 3 4
N
A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 6?
4) 1 2 3 4

A B B

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 7?

5) 1 2 3

o EEmE

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 8?

Answers
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Ch Continuing Area Patterns Name:

Answer Key

Usethegrid patternsto answer each question. Each SYGREPLACE = 1 square unit. Answers
1) 1 2 3 4
1. 22 26
8 - e g R
3 11 13
A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 7? 4. 10 8
2) 1 2 3 4
5. 30 40
O

A. If the pattern above continues what will be the area of grid 7?
B. If the pattern above continues what will be the area of grid 8?

3) 1 2 3 4

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 6?

4) 1 2 3 4

S B B B

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 7?

5) 1 2 3 2

o EEmE

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 8?
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C:# Continuing Area Patterns Name:

Usethegrid patternsto answer each question. Each SYGREPLACE = 1 square unit. Answers
1) 1 2 3 4
1.
2.
3.
A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 7? 4,
2) 1 2 3 7]
5.

0 -
A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 7?

3) 1 2 3 4

- H

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 8?

4) 1 2 3 4

E: |

|
A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 8?

5) 1 2 3 2

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 7?
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Ch Continuing Area Patterns Name:

Answer Key

Usethegrid patternsto answer each question. Each SYGREPLACE = 1 square unit.

1) 1 2 3 4

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 7?

2) 1 2 3 4
0 B

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 7?

Answers
1. 21 27
2. 16 19
3. 18 24
4. 25 40
5. 21 25

3) 1 2 3 4

- H

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 8?

4) 1 2 3 4

E: |

|
A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 8?

5) 1 2 3 2

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 7?
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C:# Continuing Area Patterns Name:

Usethegrid patternsto answer each question. Each SYGREPLACE = 1 square unit. Answers
1) 1 2 3 4
1.
2.
3.
A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 67 4,
2) 1 2 3 4
5.

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 8?

3) 1 2 3 4

: & i *

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 6?

4) 1 2 3 4

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 7?

5) 1 2 3 2

- &

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 8?
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Ch Continuing Area Patterns Name: Answer Key

Usethegrid patternsto answer each question. Each SYGREPLACE = 1 square unit. Answers

1) 1 2 3 4
1. 12 10
2. 21 30
3 18 22

A. If the pattern above continues what will be the area of grid 5?

B. If the pattern above continues what will be the area of grid 6? s, 25 29

2) 1 2 3 4
5 18 24

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 8?

3) 1 2 3 4

: & i *

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 6?

4) 1 2 3 4

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 7?

5) 1 2 3 2

- &

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 8?
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C:# Continuing Area Patterns Name:

Usethegrid patternsto answer each question. Each SYGREPLACE = 1 square unit. Answers

1) 1 2 3 4

H HH HHH - :

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 8? 4,

2) 1 2 3 4

EmEE Hh HH HH

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 6?

3) 1 2 3 4

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 8?

4) 1 2 3 4

i =iis FHH

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 6?

5) 1 2 3 2

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 7?
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Ch Continuing Area Patterns Name:

Answer Key

Usethegrid patternsto answer each question. Each SYGREPLACE = 1 square unit.

1) 1 2 3 4

H HH HHH -

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 8?

2) 1 2 3 4

EmEE Hh HH HH

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 6?

Answers
1. 18 30
2. 12 14
3. 28 40
4 18 22
5, 24 27

3) 1 2 3 4

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 8?

4) 1 2 3 4

i =iis FHH

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 6?

5) 1 2 3 2

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 7?

[ M ath ] www.CommonCoreSheets.com 8

1-5 [80[60]40]|20] O |




C:# Continuing Area Patterns Name:

Usethegrid patternsto answer each question. Each SYGREPLACE = 1 square unit. Answers
1) 1 2 3 4
1.
] H | HH | 2.
] | |
3.
A. If the pattern above continues what will be the area of grid 7?
B. If the pattern above continues what will be the area of grid 8? 4,
2) 1 2 3 4
5.

o 7 -

A. If the pattern above continues what will be the area of grid 7?
B. If the pattern above continues what will be the area of grid 8?

3) 1 2 3 4

A. If the pattern above continues what will be the area of grid 6?
B. If the pattern above continues what will be the area of grid 7?

4) 1 2 3 4

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 7?

5) 1 2 3 2

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 7?
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Ch Continuing Area Patterns Name:

Answer Key

Usethegrid patternsto answer each question. Each SYGREPLACE = 1 square unit.

1) 1 2 3 4

A. If the pattern above continues what will be the area of grid 7?
B. If the pattern above continues what will be the area of grid 8?

2) 1 2 3 4

o 7 -

A. If the pattern above continues what will be the area of grid 7?
B. If the pattern above continues what will be the area of grid 8?

Answers
1. 29 33
2. 26 30
3 24 27
0. 17 25
5, 12 8

3) 1 2 3 4

A. If the pattern above continues what will be the area of grid 6?

B. If the pattern above continues what will be the area of grid 7?
4) 1 2 3 4
O

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 7?

5) 1 2 3 2

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 7?
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C:# Continuing Area Patterns Name:

Usethegrid patternsto answer each question. Each SYGREPLACE = 1 square unit. Answers
1) 1 2 3 4
1.
O 2.
- 3.
A. If the pattern above continues what will be the area of grid 7?
B. If the pattern above continues what will be the area of grid 8? 4,
2) 1 2 3 4
5.

] & i i

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 6?

3) 1 2 3 4

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 7?

4) 1 2 3 4

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 6?

5) 1 2 3 2

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 6?

1-5 [80[60]40]|20] O |
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Ch Continuing Area Patterns Name:

Answer Key

Usethegrid patternsto answer each question. Each SYGREPLACE = 1 square unit. Answers
1) 1 2 3 4
1. 25 29
_ H o, 12 14
O
- 3 28 36
A. If the pattern above continues what will be the area of grid 7?
B. If the pattern above continues what will be the area of grid 8? a9 7
2) 1 2 3 4
5 12 10

] & i i

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 6?

3) 1 2 3 4

A. If the pattern above continues what will be the area of grid 5?
. If the pattern above continues what will be the area of grid 7?

o8]

4) 1 2 3 4

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 6?

5) 1 2 3 2

A. If the pattern above continues what will be the area of grid 5?
B. If the pattern above continues what will be the area of grid 6?
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